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1) CNT - Najdéte matovou kombinaci (932)
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Sada diagram( €. 7b — zadani 10. 11. 2016 / Kontrola 17. 11. 2016
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2) BNT - Najdéte matovou kombinaci (934)
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4) BNT — Najdéte matovou kombinaci (940)
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6) BNT - Najdéte matovou kombinaci (943)



8 s . e

@ F 3 4 & 'Y W

oW & i 0 a

B 4 2 A 7 &8

o « A &

8 £} &N 8 £ & &

2 QA EAA . 8 DA A

2 ¥, UL E aE
7)  CNT - Najdéte matovou kombinaci (947) 8) CNT - Najdéte matovou kombinaci (949)

Bonusové diagramy
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9) CNT - Najdéte matovou kombinaci (946) 10) BNT — Najdéte matovou kombinaci (951)
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